
���������
	���
��
������������
�������� �� ���!"	�
��
�$#%��� & �
!$#����� ('��
�� )�
*$+-,/.10�243�576-+

8/9 .46/:<;=+-342 8?>/>-@�ACB

D EGFIH$JLK(M$N�O�NQPRK"S
TGUWV$X4YZX4[ZX]\_^L`badc?e�fhgCeCajikeml�c?e�n=emloi?p?q?e

T rts c?euivp?w<eLx]yhzd{h|vp?qvzdgCe�eCfhz Tkj = tj−k }l�~ s ~ s | s n s c?l�p?l s {vz�adp?e��uz�c?e�|vp?l s c?e T r e�ihe�g�c?p/~
TGUWV$X4YZX4[ZX]\���`badc?e

n × n
n�eCloivp?q?e

C r�s c?e�i?p?w<e)q?pmi?fk��|vemc?l�c?e } eCfhz s x]yhz�{h|vp?qvzdgCe)p
c−k = cn−k � e k = 1, 2, . . . n − 1

~

T =

















t0 t1 t2 · · · tn−1

t−1 t0 t1 · · · tn−2

t−2 t−1 t0 · · · tn−3

· · · · · · · · · · · · · · ·
t1−n t2−n t3−n · · · t0

















C =

















c0 c1 c2 · · · cn−1

cn−1 c0 c1 · · · cn−2

cn−2 cn−1 c0 · · · cn−3

· · · · · · · · · · · · · · ·
c1 c2 c3 · · · c0

















�7���������<�C�/�m�<���?�C�������C�m�����?�����������7�?���t���%�?�m���������m���m�m�
Ckj = c(j−k) mod n.

� �����$ /��¡����������<¢��£��¤��¥ -�����¦��§��m§m¨¦�����)§C�v��©����Cª«�����������/�m���m�?�"���C�������?��¬­���C�������m�£�t������������t���$���v���£�t���
Ckj

�������d /�?�C�m�?�����C�������?��®¯ �<�h -�m�£�t�<�����v�����t���m°����m����¬±�������u /�u�?¢�¨
���t¡����������m�������C�������(�£����²t�$�����<�?�d¤¦�t����¢³�C¬±©�����´¢��k�������������/�m���m�?�����C�m�����?���£��¤��o -���t�����m����µ¦���m�]�����W /��¶
C = F ∗ΛF, ·¹¸dº

���­ /�����
Λ
�» /�?�C²t���?�d�v�?�%��������������¬v���­ v�]�k¤
�C¨����t��§m�����m�t�����m�¦���m��°����m�������?�

C
¬v�

F
�Q���C��ª�������C�����?� ¯ �<�����

F = {fjk}0≤j,k≤n−1 =
1√
n

{

e2π
jk

n
i
}

0≤j,k≤n−1
.
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i
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¿�UhÀ=ÁÂ^ÄÃ£z�Å r l�g s c?p?l s r l�z�Æ?cvz r l�p c?e q?pmivfk��|vemc?l�c?e n�eCloivp?q?e
C r {vÇjivgCp i s a

(c0, c1, . . . cn−1) r e
λk(C) =

n−1
∑

l=0

cle
2π lk

n
i,

e r z�Å r l�g s c?p?l s g s fkl�z½ivp�c?e�g r´È fke�q?pmivfk�t|/eCc?l�c?e¦n=emloi?p?q?e r e
vk = (vk,0, vk,1, . . . vk,n−1)

T ,

fhÇda s l�z vk,l = 1√
n
e2π lk

n
i
~

É ÊÌË¥Í Î ÏÐNQH(JLÑ¥O�K$H(N¥ÒQÓQÎ
Ô ����²½�v��¤� -�C�£�Q�½�v�j /�?�C���� /�C�<�£�����?�����v��������©��?�%���� -��©?��¶

−(a(x, y)ux)x − (b(x, y)uy)y = f(x, y), ∀(x, y) ∈ Ω, ·ÖÕ�º
0 < cmin ≤ a(x, y), b(x, y) ≤ cmax,

u(x, y) = 0, ∀(x, y) ∈ Γ = ∂Ω,

�k�C�m�
Ω = [0, 1] × [0, 1]

�����������������%�?�m�������£�t���������k�d /���C�������£����¤
�
ωh

���]�����m�]���k�
h =

1/(n+1)
���� /�d /�t���=��¢<�v�o©����½�v�

n ≥ 1
®��7�d /�d©��C��� ·×Õ�º �I�m�����m�W�����£���?�C�?�o���»�£�����t -�»�?�Ø���?�m°<ª�����m�Ø���C���v�������m�]��ÙW�������m�W -�C�������)������ªÚ�m��©��h���Qµ¦�m§C�v�m� · �£�����t v�/�¦���¥�����m°������m�o�u�v�t�£������������v�����t°����%�������]²��7�v���)�u�v�t�£�������(���t /�� /�¥���t /��§����)�������C�?���C� º ® � �C���� /���t�������m�����m����¢"���t /�� /��t�������������v�����t°��������v²��t§�����©����$�<���m����������¢

Au = f . ·ÜÛkº
Ý �h�¥����©��������»�C�¦�£����¤¦�C���¥�t�Q���t /���u /�����"���=�v�������<���»�?�¥�£����¤
�C����¬������������j /���"�?�¥���m /���?�C��ª�?�C���o���C¬C���C�m�����?�����

A
�����o§C�v��©����CªÚ�m���W /���m²t�������v�?�»�������W���C�<��� · �Þ§C�v�m�W�m���m¬����]�C�����������m�k�C¨
��?�¦���������m�t���m�����m�Q�m�¥ -�d /���?�Q�v�����<¢"�m���£����¤¦�C��� º �"�£�d¤¦�¼ -�¦�t�Ø���m���<µ¦�=�¦�½�v�j /�?�C����¡¥�m�����

A = tridiag(−Ai,i−1, Ai,i,−Ai,i+1) i = 1, 2, . . . n,

���­ /�����
Ai,i = tridiag(−aj,j−1, aj,j,−aj,j+1),

j = (i − 1)n + 1, . . . in,
i = 1, 2, . . . n,

Ai,i+1 = diag(aj,j+n),
j = (i − 1)n + 1, . . . in,
i = 1, . . . n − 1,

Ai,i−1 = diag(aj,j−n),
j = (i − 1)n + 1, . . . in,
i = 2, . . . n.ß ���t¡��������t���m�����

ai,j

���������v��¤%�����u�v���7¬I�k�����
aj,j ≥ aj,j−1 + aj,j+1 + aj,j+n + aj,j−n

¬R�d®à�C®���C�m�����?�C���
A
�d /���C�v�������m�h¢��k�%�������������?���������m�h�����á�W����®
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ß �C���â�<�������?�t�k�m�£�ã�����m�h -�m���m�?�C���â���������j v�W�?�ä���Â§C�v��©����
LU

¡Q�C�������������m����¢7¬¼�£��¤��t����]���m�¦ /�����C�� /�u�v���â�������������C���
A = D − L − U���]�C�����������G�?�����t°��������$§C�v��©����Cª× v�?�m²t�m�?���v�?���Â���m����²t�³§C�v�m©����CªÖ�������]²��7�v���Â©?�m�����7® � �m²´�m�k�l�z�w<c?eCl�e §C�v��©��?��¡¥�m�<�������<���m���<¢��£��¤��o -���������m����µ
�Q�C�]���m�W -�

A = (X − L)(I − X−1U),

���­ /������§C�v���h���������%�?�
X = diag(X1, X2, . . .Xn)

�m�h¢�§��k�) -�$§C�­ -�C�$�������j /���?�t���7®�å����<�/�$��?�m�m�t���������m�m�
A = D − L − U = X − L − U + LX−1U.æR�v�j /���k�C�m���v���

X = D − LX−1U,�h�����m�����m�W�m�£���������������%�t�=���C�����t�����m�]���m�W -�
X1 = A1,1 ·Üçkº
Xi = Ai,i − Ai,i−1X

−1
i−1Ai−1,i, i = 2, . . . n. ·×è�º

� �����é¡¥�m���m���������m����¢ê�£��¤��% -�����"�������������k����������µ��m���m���"�?� ·ÜÛkº ®á�7�������k���"���t��§CÙ��t /���£�����µ��m�k�C�����m���?���?�����t°����â�t���������£�7¬Þ�C�����������ã§��v���h���������
Xi

® � �k¢�§m�k�� -�G�����m�m§����?��¤%�7¬�©��
Xi

�t�%���7�?�������C�m�������­®7ë=���?�W©��t�?����� ·  /�����������?� ºØì ���m�t���k�����v���£���?�m���<¢������?�C�t²½�v��¤� -�m�?��������� -��©?�������$����©����½�v�����u�v�?���½�v��¤����������)�m�����£�����C�����k� O(n4)
®Zë=���ã���d -��©����%²t���?¢����$�?�C��ª�£�t���������(���C�����½�v��¤%�������(�����t�������t���v���m��²�����¢�����®7í=�����������C���)�W v��¢��?�)§C�?��©��?�C���"���t���7�?�?�

·Üî¹ï]ðoº ¡Q�C�������������m����¢��b /�¥���Ø�C�������h�t���£���?�C� Xi · �<�v� X−1
i º ���?�������j /�t��� · �v�������m��� º ���C�����Wª���7®WñØ /��¢����<¬W�<�������?�t�k�m�?�
���������������C�v�m�������¦§C�v��©����¥¡¥�m���m���������m����¢­¬<�¼���]���m�= -�¥�������£�����������Ùk�t /�?�C���¦���C�������?�

A
���
���C���]�
�?��©����7¬<©��o�����?�W©�����������§C�?���h�����¼�������m��©��?�C���¦¡¥�m�����m��������ª����¢$�?�����m�k�C�������C�m�����?� · �?���á¢������C������� Xi º  /���t�������������/�m���m���7®í»§m¨��C���)¡��������)�?�)�����t��§m�m�½�v�����<������¢

M
¬­�����?�W©��t��©�������§C�v��©��?�C���)�����������/�m���m�?��¡¥�m�<ª���m�������C����¢7¬?�����������������C���

A
�

M = tridiag(−Ci,i−1, Ci,i,−Ci,i+1) i = 1, 2, . . . n,

���­ /�����
Ci,j = Circulant(Ai,j)

�%�����������/�m���m�?���m�������h�������m����¢ã�?�����]�m���m��������¢é§C�v�m�
Ai,j

®æR�v�j ã�m���k�"���t�����?���k�C�£�¦����©����(§��v��©��?�
LU

¡¥�m�����m�������C����¢����)�����t��§C���½�v���m�����u�?¢
M
®]�7�m§��uª�v��¤����m�m¬£©��)���t���W������¢���� ·×è�º ¬4�������7�?���t�?����� M

¬á�����C�����m���t�?�����<�v�m�����?�������������/�m���m����������C�m�������7®�æb�]�m�m�����m�������=§��v���h�����
Xi

�t�Q���������C�/�C�������(�%�½�v�u /�m�k�C���u�v���¦����µ��C�k�m���������?�¥�t���uª�����£�(�»��������§m���½�?�������m���?¢
M
�£��¤��� /�¦�t�»���t���7�v���"��¡��t���m��������¬����������?�t�k�m°����$§C�]�����¦�����t��§�ª�?�C�t���k�m�������?� ¯ �W����� · ����¤ò�����u /�����m�m¢������m� ·¹¸dº ����§C�v���h���m����� Xi º ®æb�±¨¦�������C�<���C�¦ /�k�Q���� �Ùk�t -�
���¥�������<�C�/�m�<�������������u v��¢��k�C���=�����)�h���������<�<���?�m���=�?�Q�����t��ª§m�m�½�v�������m���v�­¬W�m�t�������m�����?�=�������<�C�/�m�<���?�¥¡Q�C�������������m����¢7®hó4 /�����m�¥���t ?Ù��t /�����¼�������������u /�uª�?¢������m�����������������/�m���m�?�C�����m�������h�t�����m����¢(�£��¤��Ø -�¦�t�=���������������������?���k�C�m���j /�����m���t�£�������
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�������u v��¢��k�C�����?���h����¡¥�������t�<�����m�%�?�)�������������C���)�����á¢��?�)����²t�?�C����©����<�������½�v�m����¢��?��ô¦�Wª���<Ùh�v�¥�����t�����t /��©�����²t�?�C����©����$���½�v�m����¢7®/åb�]�m��¤� -�m�£�»�½�v�j /�����m�¦�m�t�?��©��t���<¢
āi,i±1 =

1

n

in
∑

j=(i−1)n+1

aj,j±n

āi,i,−1 =
1

n

in
∑

j=(i−1)n+2

aj,j−1 +
di

n

āi,i,1 =
1

n

in−1
∑

j=(i−1)n+1

aj,j+1 +
di

n

āi,i,0 =
1

n

in
∑

j=(i−1)n+1

aj,j,

�k�C�m� · �m�h�Ø���C�m�����?����� A
�R�����?�W©��t�?�Ø���Ø�£�����t -�o���Ø���?�C°������m�Þ�?�C���v�����Q�b�����m�m��©��h���»µ¦�m§C�v�m� º

di = min(b(ih,
h

2
), b(ih, 1 − h

2
)).

õ ���������/�m���m�����m�¦§C�v���h���m�¥�����������j /���?¢<���C�%¡������á�C�v���m�
Ci,i = (āi,i,0,−āi,i,1, 0, . . . 0,−āi,i,−1).

Ci,i±1 = (āi,i±1, 0, . . . 0) = āi,i±1I.� �m²´�m�k�¦§��v��©�����ªÚ�����W /�?�m²����?���?����¢��%��������§m�m�½�v�������m���
M
�o /�t¡��������?�m�$©������

M = tridiag(−Ci,i−1, Ci,i,−Ci,i+1).¿�UhÀ=ÁG�äö s½÷ p?c?pmiheCc?p È lø{mi s z�Å�� r |/zdgCp?l s | M sùr pWn s loivp?w s c�p�{vzu|/z�úûp?l s |/cvzØzd{mi s a s | s c/~üÞUhývþ4UhÀ=Áÿ^��Ii s zdÅd� r |ve�g È�� eml�eãn=emloivp?q?e M0 } z�{mi s a s | s c?eäz�l ��z½ivc?p È et|-�uz½ivp?l�Ç�n {mivp�tihemgCc s c?p s c?e��¥eC{h|/e r�� a(x, y) = b(x, y) = 1 � pWn�e�z�l�cvz r p?l s |vcvz�w<p r |-z�c?e%zdÅd� r |/z�g s cvz r l
κ(M−1

0 A0) <
√

2(n + 2). ·
	kº
� ��
��$K��4O�K��»FÞO�M$Î �4O�N�� M$N���� M$Î Î»O�PbN¥H(K����ãJ Î
�7�I /�o�����?�W©����

M−1 ¬d¨¦�Þ���m����µ
�t�����������C�/�C�������<���¼§C�v���h�����b�?�o�����t��§m�m�½�v�����<������¢��m�]�o���h -�
Ci,j = F ∗Λi,jF

Xi = F ∗DiF�m�m���­ /���m�������?�W©?�C�k�m�£�
D−1

1 = Λ1,1

D−1
i = Λi,i − Λi,i−1Di−1Λi−1,i.

ç



Ý �h���m�����d©����ä�
Λ = tridiag(Λi,i−1, Λi,i, Λi,i+1),�����?�W©?�m���m�£�

M = (I ⊗ F ∗)Λ(I ⊗ F )�$���]�m�m�����m���
Mw = u ⇐⇒ (I ⊗ F ∗)Λ(I ⊗ F )w = u

� ��¤����ê -���?�C�u /���?���â����µ��m�k�C�����m���?���t����������������������§m���½�?�������m���?¢��?�¦�����������C�?�
ū = (I ⊗ F )u

Λw̄ = ū

w = (I ⊗ F ∗)w̄

ë»�]������¢<�)���m�����m��¢��$�����m���£��²½�C�� /���t�¦�<�����7�v�<¢��(©�������§C�v�m©����)§m�]�<���������t��§m�?�C���m�k�m�����
�?�¯ �W�����m¬/���m�m������¢<�������m�$���­ v�]�k¤
������µ¦�m�k�m���������?�
 /�������t�<�<���t���m�����W�?�m�����t����¢
∣

∣

∣

∣

∣

v1 = D1u1

vi = Di(ui − Λi,i−1vi−1)

i = 2, 3, . . . n

∣

∣

∣

∣

∣

wn = vn

wi = vi − DiΛi,i+1wi+1

i = n − 1, n − 2, . . . 1
·��mº

Ô ����§������)�t�m¬-���� -�)�£��¤����ÿ -�)���t�����?���k�C�£�¦§m�]���t�"�����t�m§��?�C�t���k�m�����¦�?� ¯ �W�����C¬­¨¦�������u /����ª�/�m²½�m�£�m¬]©��
n
������©��?�����m�t�����ê�?�" /�m��°��k�C����®��R�v��©����m����§m�]��������������§��?�C�t���k�m�����%��� ¯ �<������£��¤��Ø�v���t���
 -�¦���»�?�m�����v���?����������¬?� ·��mº ���­ v�]�k¤
� n

�������m�m���t���£�(�������m�t�£�7¬?�h�����m���£��²´�C�¥ -��t�������t�t�á¢<���C�%�?�m�����v���?����®í»§m¨¦�m�m�%�m���t�£�=������§��<�±¨��m�����?�������t��§m�m�½�v�����<������¢��
Tinversion = 2TFFT + 2Trecurrence

TFFT = 10n2 log n

Trecurrence = (3n − 2)n

æR�v�u v���k�C�m���v���Q�£��¤��t�� -�=�����?�W©����G�����t���k�����=��§m¨¦�C�����������£�����=�������7�?���t�����Ø�?�=�£�����t -��?���t�����t²��?�C���<¢�²t���d /�������)�=�?����²½�v�j -�m�����m�¦��������§m�m�½�v�������m���v�­®
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TPCG ≤ 9n2 +
(

20n2 log n + 25n2
)
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